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Q1 preiE ussssT 28 8L Ber(posne @ S8 augel  auIedlsd, BTG
epemeuseflenid suNMHmed s LOUL @eitene, genmed @euClaum s Usah 2imEgeTen
epemevsefed 2 éen e USSSsmETLD QSTL (LpigLjh. LUSEE&ET 2iS|&H&EFalqlL
ST CUILIEISH@GET 2616 LD 22 HMLSEHHE SJMUSERHE 2-0eusTEs CUTHILDTETHTS
AmEGL. AHSL LEEHELES LTS UDsamer TeuCrgih Geully USESEHEG
LG alensuild Cowibsaqll LGS maldsTh, A THSHMET HTLSEHHE
DIEDEUGERSHEG CUTGHILTEIETSE GBESHGW? LWETUESSUD © = 22/7)

Ans  of 1 g
X2 7
X3 4
X 45


LENOVO
Typewritten text
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Q2 YWhat is the Common name of mercury?

Ans X 1. Zine white
o 2. Quicksilver
# 3. Pearl ash
< 4 White lead

Q3 Geir eugpld BB SN0 6TH 2018-QD SyevmmqmaETen ~9-UT 2605 CamlienUenil (2018
FIFA world Cup) BL SELIGI?

Ans X1 eroluufest
v 2. gelum
X s AmISeMHS]
X 4 SEHHM

Q4 4 B c LOMID D HEW BIEIE BUjEET (PEHDEILI Zh3n in omoid © oh
weMCErESer @@ Calmaenuéd QFLg (WinsHery. LstaumueuTsefsd Silusianw
(ieéds Hfls CHIL aBSEIE Qamsmeuf W?

Ans  f 1
X2 A
X3 B
X 4D
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Q5 fer eumd eflsmemun’ @ affmsefey Béger Gumiquilsh, s (Wenm @edbNE SRG
CloL coaemen GleusaTmeuy  wimy?

Ans

X 1. Ble 606IL&H (Katie Ledecky)
v 2 eo&GHeL GlusLLIEeN (Michael Phelps)
X s et Geom&GL. (Ryan Lochte)

X 4 OMT& ervlllew (Mark Spitz)

Q.6 & wmmib B AW Gram® wuTEeT @C7 L0 Quph s (WaMGW 3 kmih MDD 4
kmh CeusHSlel @B UUTHMES LISTLRIGEDNTSST. Jeufsen G SHensuiled
LwstEgmed, & aMCHISHANGU TINEG ATSEREE DenL CULILINET ST TaTaTaTs
ENE&EGLWL?

Ans X' 1.9 Km
W2 8 km
K 3 4 km
X 4 3 km

Q7 2018 -guid g6, ST W EHODESEHET ABTHCHML eRLALILGESL
URISTHOWILESTS SMTHH enwd Uflengd QummeuT WITJ?

Ans X1 GeoetT &yl LDefy (Jane Addams)
X 2 QBeLF6ET LD6GITGL GO (Nelson Mandela)
X s GamlwL L6 (Harriet Tubman)

v o QUITGamIL FF&EUM (Yohei Sasakawa)
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Q.8 Which of the following states is the least urbanised state of India, as per the census of 20117
Ans X 1. Bihar

& 2. Assam

< 3. Odisha

4 Himachal Pradesh

Q9 Which of the following is NOT an output device?
Ans 1. Printer

/< 2. Speaker

#< 3. Monitor

« 4 Scanner

Q10 1fA < B < C >D < E > A, then which of the following can be concluded?
Ans X1 A<D<B

v2C>A<E

X3B>A>E

K+4E>C>D
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Q.11 g emberadl (MF) HMID 2 EaRIE Wl 1944 -gLib e 2 (HEUTESILL L enel.
SIeUMIET HEDELMDILSRISET 61HE ESTHHEL EDLDbHAIETEN6T?

v 1 eumeDImIL 63T DC
X 2. Qeenfeum

X 3 BLLWImTs

X 4 eflietTeuTm

Ans

Q12 epaulleun s eu@l Ferv 2t Guili Herlsoiey @b &6V (ease of doing business
index) 6TetTLg] Qeuafull luGEmg. Seng CQeusfluGueayaen .

Ans 1.
2 &L CUTHEMTST LDESIMLD (World Economic Forum)

v 2 2600 QURIGS G (World Bank Group)
< 3.
amreur® L&eTery erudaed (Harvard Business School)

< 4
greuCse mmewon BIGWILD (International Monetary Fund (IMF))




8/18/2021 https://dc4-g22.digialm.com///per/g22/pub/2667/touchstone/AssessmentQPHTMLMode1//266702134/266702134S5D2773/1628978842. ..

Q13 epuil @@ usnpw DETmassT S0 QUL el 4600 &E SUTRIGEDT], g6
UWPgIUTT&ES &lev Glaeuayden CELgaill (B 2gemen 35406 -6 6% GeunugFled
efipuens GELADT]. safled. LWHUTTUUSDSTS chUTL GFey QFLg CgTms
cTEUGUETIOY?

Ans o 1. 500
& 2. 3400
& 3 450
X 4 2800

Q.14 AmongA.B.C, D.E.F, and G, A is the mother of B, B is C's sister’s son. C is the only son of D, D is the maternal
grandmother of B and E is the son-in-law of E. If F has only one daughter and is the husband of D, then how is E
related to A?

Ans X 1. Sister’s husband
& 2. Son
# 3. Mother’s Brother
« 4 Husband

Q.15 gp(p QamensuNer 32% -501. 40% -60T. 60% 432 elaUllel, QIHSSH Q&Mens (T -60) sTeHmen?
Ans X 1. 5,605

X 2. 5525

X 3. 5,555

o 4 5625




Q.16 Which of the following statements is INCORRECT about the Great Rann of Kuich?
Ans X 1. It is a salt marsh in the Thar desert.

/< 2. Tt is inhabited by the Kutchi people.

/< 3. Flamingos migrate to nest in large numbers.

o 4 Tt is a fresh water lake.

" epdly GUs Querflwufes AN wmy?
Ane X1 @eLaumett

X 2 @SB GUSIT

X o efleiggmy)| GQLOM
v« ellelogm)l GUST

Q.18 ety muicoseilen Ceusruger 2 3: 5 a1etn ANAFHHL 2 6menerr. @Hs TUIST @CT
amieng sL&Es afseh Cprmserse QenLuleonea alfgh s

Ane (1.1:1:3
23 5
X26:12 ;18
> RN S R
r N



Q19 geog smBE@ NS DTG 66D SITDGME 2 (HUTHS, He0 2 6Ten
‘Heumh s1et1n Smieusmss UDMIL SMSEEDET 61(LDHUI 6TIPSSTEN] W2

71U R QTS LPTSS)
v 2 R, KBMIJTUIETOTE0T

Ans

X 3 B V.EIMHS
X+ Bif e SITesTTL

Q.20 Qan@ssiul@emer algausmssd seuanonsl Ligésah Gusih Gsr@ssiul @Geer
A@uustaraseicy Gupg Casmalls@danl?) ufsSE QFb amnmans Caiey
Cginuea)mn.

Ov = 4,15

O’ <>¢ 20,20

1. N = Tst
Ans X' 1.30, 29

X 2 40, 42

X3 18, 10

o 2 16, 15



Q21 7 aefrug) 123 €1QTQYLD, LEFT €T6iTLIGI 4512 TQTQULD, YELL 6T6HTLIGI 2247 €Taureyid
GOUIL (U L med, FLY eTstiugmanss GOWIE estiemsuns @m&@LW0h?

Ans X' 1. 623
W 2 527
X 3. 475
X 4 741

Q22 (1 +tanA)(1+tanB) = 2 ¢16vflleb tan(A+B) @etr ALY eleTereuTs QBSELD?
Ans (1_ i

K22

K3 -2

K40

Q23 Qpsseailaget Qgmped HILUSHE (recognition technology) OMR LILIGTURSSUILIGHMSI.
SIBIEL M LG TGS GMSEMS)?

v 1 DTS (Mark)

Ans

X 2. GLO&6UTIa & (Magnetic)
X s DIgflmd (Mirroring)

X 4 GoeolyGeuL_LI] (Manipulator)




Q24 @@ Casflu QpGeratamauile 35 Asmalas@ast aflars @(bsSaTns.
RS ST AMTHHID T KT, MBS THWMS eflenS@ uevluES

Rr5HNBHE 15 -€usTs PGESHDG. a6, QLUUES prSeoGhE fiuTs
elm&&et Hlemeoum® eTeires?

Ans 1. 23 -6
V2 21 QUG
X 3 22 -Qug)
X 4 20 -6ug)

Q25 A B LOHMD ¢ WACWTT @CT CHrsHe @@ QL SThmss snll BLES
CerLmi@Slsiper] Gogb Seulser (penmCu 42 eflamg st 63 ellsomg &6 MHMILD
84 eflemmg &aflch Sleufsatsl &HMIESmET (Wip&SSlsTmey. eTeafled ereleueney CHILd
&058 scuTse Bam@l seuRidl QLEANEG @OTOTS QUHINTSH?

Ans X 1152 eflenTmig Serm
X 2. 256 eMl6uTMiq &61T
W 3 252 @lleuTimiq &6

X 4 452 eleuTmiq S61T

Q.26 Which among the following units is used to count the speed of modern printers?
Ans X 1. BIT

v 2. PPM

< 3 IPM

& 4 CPM



Q.27 If the selling price of an article is 3 times the discount offered and if the percentage of the discount is
equal to the percentage profit, find the ratio of the discount offered to the cost price.

Ans X1.7:6

X2 7011
W3 5:12
K47 12

Q.28 v ietiug), “(PSHEL eTevTenEET @QUICTILTEUS) STesursoledt cLPSTTNY LOL RIGL 6T Fal Beusy
sTetUens s GHISEMG Taomme0, (4Vs) Ve @etm WY eTsienieuns @ HEGWD?

Ans X 1114
K2 35
X 3 54
W 37

Q29 ‘Heavy water’ is a term related to which of the following?

Ans 1. Fertilizer industry
/< 2. Hydro-electric power plants
/< 3. Pharmaceutical industry

« 4 Nuclear power generation plants




Q.30 gigwrailest Nefteuqsld Crameomu Sl Awimeys@sst Nl iy aemméE eurseais
Wwae fpeadang &I5Hh AmbEs JAWILG QeTGEHa] WTT?

X 1. QT ELMITET

v 2 DamTRIET

X5 LBGNTST 9.
X 4 eRENMIRIGEL

Ans

G Dereumpd ComemeuuTlest I 6TeTenT?

V225 198 484
X e

14 22 15
Ans X1_ 14

W21

K32

X 43




Q32 @FAws Cahws Aaansdsr &0 swslL@Sam F5wCoa pucs gL
Qemhast RAGHS T@SsLULHerensor

X usaus g

X2 OTHEE HOGHSHET

X 3. LITestTmI&H 6

v 4 (petoil g 2 UBlL Smigen

Q.33 @@ EIHErSHET CHTEIGHT 1 : 3 : 4 : 7 c6D N&HGHH0 e erenen. HaLOURWL
wmHmih NEEOMW CarangHng el G o smem efGALINFLD Tetem?

Ans x1. 1450
W 2. 144°
X 3 140°
X 4 1200

\

¥ settamT UedseT SMUUSLD 6TRIG 2 6Teng)?

A i NpCgeELh
X 2 ClgeuimismesTm
X 2 LDQMTITEQIQ. T
X+ 2 587 LITCHELD



Q.35 Nemeumsusauniled 615 @BSHWITEND 6TELEON EJiq6TD (ATM) SHenemUD EensauisSlsim
usstNeniLl Gom@asma&mg)?

Ans 1

apHw usfrmser LHMIL ufleursFeneaT eumflud (Securities and Exchange Board of India)
X 2 QbE! flETell eumI& (Reserve Bank of India)
W3

Arndi CaAw HEWNILS SLOSID (National Payments Corporation of India)

~ 4

CaAi eumidl MM Coeumsiesnin HIMIEUSTILD (National Institute of Banking and Management)

Q.36 @pHu srfwevsmwlifen a5 FLL1fley UEEFTLUSEH WLDMID 2 enepIml & urE
Sigyeueusmigsnat unfi eflouyrigsner 2 6o s&ig)?

Ans

X gL fley21
v 2 gL Tfley243
X s gL fleys1A
X 4 gL 9fley 270



Q.37 smdy the given pattern carefully and select the number from among the given oprion that can replace the question mark
(7).

L %@ > 4[E+p) + ()@ +0]

1. Amﬁ == 5[(3+3)+(3+2)+(5+5)]=110

@
1L @@ = ?

Ans 2 1. 100
& 2 120
v 144
X 4 96

Q.38  tan4s® —tan3o®

1+ tan45® tan3o’ 601 LOGILILY eTDrenT?
Ans %1 332

K22+43

X3

vi2-43



Q.39 1942 -gyib ayew(R, THEL NpHLT Hifllery WHlagense (Cripps Mission) @bSwmelm@
2igp|LfsT?

A X1 pmbGe G&LmenmeL(® (Ramsay MacDonald)
X 2 roLmentedl UmeLL_el6dT (Stanley Baldwin)
v 3. l6sTerVL_60T FIJEFHED (Winston Churchill)

X 4 GenGlneooTl. 24L_60l (Clement Attlee)

Q40 o pmuN UTHSTOIUS Senaulsy Rnpsrudaons uss 2 mlflansst @masssmmen],
2ieUTsen CUTEH Sieneaumed smsLL5HNE Calpts®ssiuBammisen.

Ans 2 uetm(Een
X 2. 3 ieoo(h&en
X 3 5 ievo(ha&en

X 4 4 pevu(Raen

\

Q41 Ulat Bansi is a distinct contribution of which Bhakti poet?

Ans X 1. Tukaram
& 2. Nanak
& 3. Surdas
v 4 Kabir



Q42 > yeawpsefes Cr aully aNHs5860 T15,000-5GU GUDLLED Fal( ally WLMHMILD
stefil QU lnd@ e G 2 srer Caumum® 31,000 GuGLD. eTetflled, @ ek SsTea
a1y 6NHLD 6TebT6nT?

Ans o 1. 25%
X2 12%
X 3 50%
< 4 10%

A8 o eodlerr ASLIGURIL LI LITEOMSET 6TRIG 2 6Tenso?
Ars o auerudCreSlum

X 2. eolILImenT

< 3 860

X 4 r9lefilemustTery

Q.44 smrsuefl SIDUMSE (Cyclone Amphan) GLD 2020 50 CLONE@ QURISSME STHRLG.HHHE
Soralell arHGHE 2 (Hardg?

A XL SIS NS0
X2 s L6V
v s eurRiSTen edlifl@Lnm

X 4 QUITHIWETT aUem6T(@GLIT



O HE Cuins (NITI Aayog) TelTLE _ Sietiml HimieuiuL g
Ane X 11 gLlied 2014
v 2 1 geoteurfl 2015
X 3 1 gJLIIeL 2016

X 4 1 QEULLDUF 2015

Q.46 ammisimiled FawaTlpm (Hombil festival) sT6ILG @ Llguevomst UPRIGulear SEailpm
G0 Qg @bHuwmales Nsiai@phd shHE UL &G Wwrheomsafs tamsm mL
BCEl Y

v 1. BT&EOMHS]

X 2 LDIG&mymLD

X s smevnimEFeLl LFGCHELD

Ans

& 4 SIeNVerVIMLD

Q47 @@ CQgranawrearg safl 'l olfgsHh. 10 yandaald s sAg5H0 2
oL RISMGLL?

Ans  of 1. 10%
< 2 25%
< 3 15%
X 4 20%



Q48 (5412 —p.o6s
(5.4 +2.16 +0.16

Ans o 1 5§
X2 386
<38
X403

A1 LOSHULITETTS):

Q.49

10+J221+ 12 +v16 @etr LOEHILMTETTS:

Ans ,/1_5
x 2 4
<36
X4 3

Q.50 geject the option that is related to the third word in the same way as the second word is related to the first word:
Himachal Pradesh : Dharamshala : : Maharashtra : ?
Ans X 1. Pune
o 2. Nagpur
# 3 Beed
/< 4 Ahmednagar



Them =
'ah]e
L E et et Bt i
S | ’.I.hl‘ Spectl
€ eV = fl'e
£
L IR i :

Ans
n+1

K —

N2 ——

3.

@
.

X s gL fley 2
3

X 4 gL 9fley 2
5




Q.53 2ygiedls sTeiTUT @@ Usnipl LASleuimg. s 34,000 -5 CUTRIS, L(DSIUMTES 400
CFeoa(RADT]. eu] ugetT e, hG snssdlenen 35000 -G aNpUsmsT CFigmed.
2eUrg oru selFLD cTeTear?

Ans

. 7
v 13—9
117

13

P 2. H
117
X3 13i%

11

13
p QR i
12 e

Q.54 which of the following provinces had maximum representation in the constituent assembly of India as on 31%
December, 19477

Ans 1. West Bengal

o 2. United Provinces
/< 3. Bombay

/< 4 Madras



Q.55 @ aNDumsuTeTT @@ QUT(HEMET 2500 &@E TS 550 - &@ ONMADM. el
SlQ(HEMLIL eorl §HafHLD eTetTam?

Ans X1 20%
X 2. 5%
X 3 15%
v 4 10%

Q.56 Aereumb QFTELUUSEESEAMLGILTaT 2 maflensé ApUUnEs STL@L Qeuslt aueany
uLSengs Caiiey Qeiweab.

amitby. 4&S. mifl. umerig

==
90

5 3.

X

»



Q.57 Nereumesmsaumbisy 618 HN&GSHE LOHMILD UMTaas GemUTL IaME&S
SMIsTIOTEMGI?

Ans X 1. gmeul_L_LBletT ¢
v 2 gmeul_L_LOlesT A
&< 3 sTeL &L

< 4 gneul_L_LBleTT K

Q.58 e : i :
/1 = = 6160 FLOGTLML 1960 x @6t FTHEILDTenT LOSILIL:

X
Ans

16
1. i
¥ 25 .g;mmgj 25

13
Xz 2z
25 - Siedeogi o 25

Xs il
25 - SiedeogI 25

X“EQ-IG'I}GU _?
25 oz



Q.59 The Karakoram pass, the mountain pass which lies between India and China, is in close proximity to:
Ans o 1. Kargil
/< 2. Tawang

/< 3. Pathankot
/< 4. Srinagar

Q.60 ¢ 9).Tervemervd (GPs) HESHD Clameu®. WNemeumeusmeunbdied 1% Flwmeng)?
X1 @gl gegwimelrsy GUESSUULL G
W2
eneusEnLd, Uil sLLL RsEsn @Elolsery. (GPs) SEaTSEnSESH HOL S6TS
Glewebu(Lb.

X 3
@6t WU sugeud GGemusy LGMEm HEVLLD (Global Placing System) TERTLSMGLD
< 4
@asr (W augaub &50GGWT LuTfagsiin 6L LD (Galieo Positioning System)
TETLISMGLD

Ans

Q.61 Sexreupd QsTLMsy Casamal@mMeni (7) LHSE QFLWD sTsimsnemnd CHiel
Q&FinLa|Lh.

14, 2, 28, 3, 84, 4, 7

Ans X' 1. 268
< 2. 202
W 3 338
< 4 198




Q.62 g5 -yib W@ QBHW Cafw BT (WP LIETE FOLUDDE. D
@pHuwnells 155 pEISHD BLHSS?

&1 ULt
X 2 QoL gmery

Ans

X 3 BLESHHT
v+ umbGu

Q.63 Select the Venn diagram that best represents the relationship between the following classes.

Swimming, Cycling, Exercises

Ans

W

OO0

~ 3.


https://t.me/tamizha_academy_channel

Q.64 |Tgreu(mld UG LIHOWL QFLWIGUCL @M LWFsefld 0@ sLLFSLTs
A@pHunafed LN e HluTlcvsmev?

v i Bt LBSH
X 2 Bt 2 (heOeNS SRS

Ans

X s Bt BHN&SSTIL
X4+ aM 5B

Q.65 21, 35 MHMID 63 Lued LOILENOITS CUGSUL SFnlglll 10000 SELD (GHEHMEAUTET STETTISEN
6THGEME8T D_EITETTES?

Ans X1_ 30
v 2 31
X 3. 34
X4 32

(&

4% Nereumpd CememeuuTlsst DI 6TeoTenT?
103—[144+ (12X 12)+5+ 12+ (6— 2)+ 10]

Ans X1_ a0
<2 86
< 3 85
W 2 84



Q.67 Zupdtem auBMBS HeATOTSL Lindsad Ggih flsusTer Castels@GheniuL (7)
uBleSH Qelluib steivemend Gaiay Gaian.

CRy

Ans « 1..36

/< 280

~ 372

/< 4. 100
Q.68

HletTeu(hHeusTUDMISES ST6Y SHTEIQLD.

e ) =
Ans X' 1. x4+ 4

: + 4
qu.x
%

Xs.z

X

K41+

x+ 4




Q.69

GemLm Biflev a1hg eumyy SmeoLUGEDEI?
Ars X1 s iflwameet

v 2 SMIUT el QL&Hemerv(d

X 3. eDIBLITE60T

X 4 DQUDL_ 260

Q.70 4 5 WOMID ¢ (WHMEW 36, 54 WHDID 72 BILS6MD @@ CaumaveniuE Csilg
(L&s (WigLbD. st CEihg Ceusmevenild CGMLMdle], emew Colsmnsy
(LDlg EUSOL EUSM(S & HTLSEHSHES (PTG A-WLD 12 HILSEHSES (LD6TTETSHTS B-ULLD
Ceusmeouiledmhgl eflevdl el Lmisen. stefley. Uswilenit (WDIgES © dE555 Camem
BILSeMe sTanierteend 61655077

Ans x 140

QM Qereumd QASTLCITE GFng USHaNS SIEOHLILMETD SHTuTayLD.

2T3, 586, 11R9. 16Q12, 23P15
Ans X' 1. 11R9

# 2. 23P15

W 3 16012

X 4 2T3




Q.72

Ans

The value of V0.04 +/1.44 4+ /1.69 +/0.0009 is:
X 1170
V2 273
< 3 103
X 4 2.03

Q73 Tereumeusaumlcd #Tautss eflstatleual Bleaneowid (ss) GHSS HS HHSS

Ans

TS QGLWD?

S
usa pmih Seomefsit eNamtieue afjjsst LIGCWL Qbs FjaCss
afsitlaue HsneuwiGengll (1Ss) UMsnsuuTL OIS SSULEGHMMIS6T

X 2
2050 eU6D] 2% QUIRIGLD 6T6nT THTUTTSSLULGSIDE
W 3
25l YOulesr M s&OMILUTESUICL Si6MLDHSIETETS)
~ 4

Sigl (PSAWLTS UsA DML FTaUTed @GRISMLSSILLL S| SLGLD.




Q.74 Which of the following is INCORRECT about Paramparagat Krishi Vikas Yojana (PKVY)?

Ans 1.

Every farmer under this scheme will be provided 20,000 per acte in thuee years for seeds, to harvest the crops and 1o
transport the produce.

/< 2. It was launched to promote organic farming.
o 3. Inthree years 2,00,000 clusters will be formed.
/< 4. It was launched in April, 2015.

Q.75 For a symmetric distribution. the empirical relationship between mean, median and mode is:
Ans  of 1. Mean = Median = Mode

/< 2. Mode — Mean = 3(Median — Mean)

& 3. Mean > Median > Mode

/< 4. Mode — Mean = 3(Mean — Median)

Q76 The Ijon Capital pillar is located at:
Ans X 1. Dhauli

#< 2. Barabar Hills

' 3. Sarnath

/< 4. Nagarjuna Hills



Q77 Qereumd QsTLCIT® QUIMHHSTS LUSSHNG SEDLUITETD ST6TuIeLD.
A5, F11, K24, P51, T105, 2217
Ans X 1. P51
X 2 F11
v 3 T105
K 4 2217

Q78 @ GFdaussidar @ran@ FLLLMM USSRIBEED 3 : 4 aam aNfssHSled 2 enener,
&METEY 42 cm STEIMMED, eLpemevail L et Hemd eTettemauns Gh&@EL0?

Ans X' 1.30 cm
<2 25 em
'3 15 cm
K 4 35 em

Q.79 Qan@ésiu’@ster Qensmuiled 2 eter 2 meflensrl CuTsim. 2 meysTer GensmeniLg
Gaijey Qals.

DMO : VUNL

Ans  of 1 GHI : TSR
X 2 DQG : ELP
& 3 CFH : XUT
K 4 ZAT : EGD



Q80 5, 1 . 1 . . e § S
x*+- =18 eTeufled x+- @61 WS eTereTauns QBSH@LD:

Ans X1 4
X 21
w33
X409

Q81 @GpHw Cxfw UREG FHEMSUNEDT NSE (Natonal Stock Exchange of Incia) HEMEVEMLOUIGLD
ETRUGETENS)?

Ans x 1 BG@T
v 2 (LpLemu
< 3 Uglig 6060

&< 4 Qastitement

Q82 femeupld Hpmiseiled 618 sqany &HHT Hangulled FLpOEMSI?
Ans X Qgcieumiit
< 2. ellImLpeT
< 3 g

v 4 Qleueer]



Q.83

Ans

0 )(2 yz 22 a a . » 0
x+y+z =0 ¢Tetilev Skt @eeT EILY eTerTenTeuns @(H&HEGLWD?
P
v ARl M
X

X 2 3x? + 3y? + 3z°
X
X3 x2+y2+z?

w3

Q.84 Qereumd GaNME QSTLIY Geveons (PSS -Qsmemieniis &6 Ms.

Ans

B-F
W-A T-Y

M-Q

K 1W-A
X 2 B-F
< 3 M-Q
v TY



.85 Which of the following is the correct sequence of crops in the decreasing order of their producrion in India in 2019-207
g equ P g p

Ans X 1. Wheat-pulses-coarse cereals-rice

o 2. Rice-wheat-coarse cereals-pulses
/< 3. Rice-coarse cereals-wheat-pulses

#< 4. Wheat-rice-coarse cereals-pulses

Q.86 7 gyem@psafch A wHEID 5 sTetTgEL @raw® BocusTriselstt 2 pHuFHenns (@uiyb
sTarnTaeiled) ST &t eusnyUL SSenenl Linss smgd QFML(slb elenmelsd
eflenLwefl&aeb,

[Prvelsctias of ims camipanies & bsd B gres

M MR WE AT ME ;e WN
Tweny
sams

2017 (LOSHEL 2018 eusn. Hmisuerid B ulledr 2 PuSHUTd #5605 HsMOLY seireor?
Ans  of 1. 50%
< 2 15%
< 3. 20%
< 4. 25%
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Q.87 fstreumlh el eusmULLh @bAHwunelesr usbCGoumy wrhleomseNadlmha Gaumiu L
QgmflsbsEnemLIL oS

sTemenndenauie #5aiah eunflwnsr udfsneusd s (GImg.

Qar@ésiu’ L allpiu Caiasealed Qumiiwiraty geom, ol iU SSl6T bl
Camemgfled a&memen g AfuNed Gnss Cousm(BLa?

Ans X1 ggo
X 2. 90°
X 3.100°
W 4 108°



Q.88 isiTeu(pld UMY susHTULD 2015 HMID 2016 b uETGEaND @@ SLOUafluedr 51,
B2, B3, B4 WLOMMILD B5 eTeimenIld WHE Caumiul L Henenser 2 @meuns&H sbiuflsbeor
EGumi@aehsin Qsg samNémanmius (UNTEHL) T GHng. b
QEMIUL 6mg et LiaS5E QT (pid alsmaég el welldsaln.

N EE T

36
13

3 T 15
S 02 T 90
£ Bl m——. 55
0 10 -} 0 a0 50
HUMEDERS OF WIRELESS KEYDOARDS
N THOUEANDS]

es of Company
o owmom @

Branc

w2016 w2015

2016 - @60 B4 eTsaIemId Hemen 2 MusS QFilg sbilldveor ECuMIBaeiler euemiéma,
2015 -@Qle0 a1h5S Senemilstt 2 HUSHES BsrTers?

Ans X1 B2 L (BLD
X 2 B1 LOMMILD B3
V'3 B1 LG

X 4. B3 LOMMILD BS




Q.89
Wedtau(ph UMY eusnUL LD, 2017 WMHMIL 2018 -Glh eam@Gaefed A, B, ¢, D WHMILD

E 6T @bhg CaumulL sl sEhamLiw @eartlaufiLjaeils allhusmssamenns

&1L GSma.

@rsnLranGsEns@sE Sml A -l Cmgs alnuUmssEsHE@GLD,
A ran(Bsersd@ SHml D - Wikt CGngs almusmasers@h Genl Guiwimer
aN&lgLd eTeiTeT?

Ans X'1.8 : 5
w27 :68
X31:3
K45:3

Q.90 Qar@E&sULL(Remer auqaSmS HaG Sauaisg, iflesmer allami@hlenli?)
ufeS@ Qewd sismemeny Qarhssiul L eBUUSCETusalsd Gumba Caiey
GlFiweyLb.

5 7 5
9] a8 |7 <6 33 |9 <5] 2

3 3 7

Ans X111
X 2 18
<38
413



Q91 Qan@aslLl Geer alqaifamng g scuaidgl. Hastar alsmmé@mlaniul?)
ufe8@ Qe samensnd Goie ClFan.

Q.92 Qer@&sUulHee S50 HlG Uad . HH6U0E i Dm0/ eaGRISeHT

2 eMeMMhHSY 2 eMenMihHency 6Tend SHeifHs.
F: 3. 75110
X I60TLIGNT FLOSTUML snL & &(HLhUeoensuilsd #rd deromed Sidsaidena.
DTSRG 6T

I bgE swaur@ greiled SrésiulL g

Il HSHF FOTUTE X STTUQITTE S(HDLNSUTD WLITSSITH STSSUIULL S

Ans «1_

oa1GLD | iV6VG Il 6TeT QETI(HLD 2 emenmihEened EeLenev.
X2 2a1g1D 1l LOL(BLD 2 6MenmihsSl.
X s 2aigld | WL (B 2 aMeTihSS.

X a4
2a1gLD | LOMMILD 11 6T60T EMJ6GOI(HLD 2 6ETMIIHSENE.
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Q.93 Qar@sslul (Reter HrerE USRSTNsD enatn UgRssT gCaT @ algsHe

Ans

@OHneDWsLWsTeuTs @hsSlsimer. parm WG Caumiu’ L g1 Coaumiul L
€R6UTENME SsvrT HleYLb.

& 1. NMLK
X 2. SRQP
W 3 XWVT
X 4 FEDC

Q.94 AmongA B.C. D.E F Gand H. H is the father of G. G is the only brother of F. F is the only sister-in-law of E. E is

Ans

the mother of D, D is the brother of C and B is the father of H and husband of A. If F is unmarried, then how is C
related to A7

+ 1. Son’s Son’s Son
#< 2. Father’s Father
# 3. Father’s Mother
& 4 Son’s Son

Q.95

Ans

@@ GOUILL GOUWLE Qumilufed ‘924 TITUG ‘they like tomato’ €TEUTEYLD ‘935" TEOTLIG
‘we love tomato' STEUTGLD ‘956" €T6UTLIG| ‘tomato love mango' STEUTEYLD 2 6enmeur. eTewfled 6ThE eTevur
‘mango’ STEATLIGMSMTSL LILSTUESSULGEDSI?

X1
X2 2
X3 4
VR



Q.96 Qan@&sslul(Reter prenE Csmmselsy, cpsrmy Qemmast gCaT @@ allsgslsd
@nHmsnsnL WeTeurs GnsSsms. ermy WL GL Coaupiul L gl Ceumu L
eR6tIemME SemLHluleyLd.

Ans W Slaen&

~< 2 (GG
X 3 Hleohdl euemev

K 4 QUTHSI

Q.97 GeeuEh 2 @MUTLmeL Ligdgl Siensd s (BL alameyéde@ el weNéseayb.
CGL&l: et gybom Qs euCleum s UMECES Samauuns ks ELD:

Gogettery: “ 2%l 2 asnln Elesney. GLOgYID 2661 LU GIFILG U UMeTGs: S @8 EhD
Fal. WG lh Femeuwlmsorsney”

CLeflufletT samm) CQFTLIUTS Cmmeitery €Teuten ShSlem?
Ans X 1.

CLauiler DT FemeuUlliTen LUTeTCESGSmend CFWS M.

< 2.

GLalullesr ubiom Q&G UTETCEHEGS6T Hloo SemaulLITsTg GeLsmev.
X s GLelludledT SILUT 6(h 2-HeUTHSHEMM.
v

CLeuflstr bLom WL (P SHemeuwlmsst LUTTCSSGSHemenE CFS M.
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Q.98 If “+' means ‘division’, ‘=" means ‘addition’, ' =* means ‘subtraction” and ‘=" means ‘multiplication, then what will be
the value of the following expression?

{ox18)- ()} + 5-2)
1

Ans (1_ =
K24
F S|
~< 43

Q99 @ AN L GO 1g9eh UNSURE 6T6iTUgl ELGEHU stéim) 6TsLILGEADE. 2465
G960 yNyHM sTsoTugl BlsTaupd eNEUUSGETaIseNsd sTeuumm sTpsULELH?

Ans X 1. TELGU
< 2. ALONE
< 3. MONEY
W 4+ ALARM



Q.100 Qan@&aUUl (B6Tem SaMmISMeTD (L0l e SSNETUD SHEUSILOTSL Lig SHeELLD.
QaTEESIUL(RaTen FHaI0 D @D 616 &(HE), Hati@ CFHHS 2 g6
rmur@seilen G 2 sremen Gumetm GamsuMispid. Fammisated
Qar@ésiul@eter (pigesefed abs @armn 556 Hufd
NerummiSmgleTunmiSstmes Tatm JammisafedmhE (pige] CFILS.
SaMHMIE6T.

Hleo UBHSISET F6TEenSlsTmen
6T6DEVMLI LhHFISEHD S Teym SeiTme.
Wi &|E6T

I SIETEMTS LUHSHISHNT Snl Nje|mib

Il FETeMTS UhSHISeT HTeyy Gousimgll euflwih Gevanev.

Ans X 1.
(Wlge] | LG Il sTeeT Geau(Rd LsorUmmETeLsmEY

< 2.
(g ey | OMID 1 eTeor Eipsn(R NeTLmmiSleoTmesnt

K (e I LLEWL SerunmISns|
v (g | LLGEL Derupnidms




